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The start will be in the vicinity of Mark 2 and the finish will be in the vicinity of Mark 1, but may not be located as drawn due to the restrictions of the shore and/or other factors. 


Course W2 is shown
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1=Windward Mark


1b= Offset Mark


2=Leeward Mark(s)
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Course W1 = Start, 1, 1b, 2, Finish


Course W2 = Start, 1, 1b, 2, 1, 1b , 2, Finish


Course W3 = Start, 1, 1b, 2, 1, 1b, 2, 1, 1b, 2, Finish








The starting and finishing location will be between Marks 1 & 2, but may not be located as drawn due to the restrictions of the shore and/or other factors. The finish line will most likely be considerably shorter and may not be in the exact same location as the starting line.
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1=Windward Mark


1b= Offset Mark


2=Leeward Mark(s)





Course M2 is shown
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Course M1 = Start, 1, 1b, 2, Finish


Course M2 = Start, 1, 1b, 2, 1, 1b , 2, Finish


Course M3 = Start, 1, 1b, 2, 1, 1b, 2, 1, 1b, 2, Finish











